DP RATING NOT RATED FOR B
| y + 50 PSF IMPACT RESISTANCE _9.,_-0-*-}‘3‘:11111 N g
ew 0 “t MODEL1840 DOUBLE HUNG WINDOW, e *_'_.Eu_.li.:’;"&,gfijt, S =
- o Eﬁn:- +\.__+ .
WINDOW NON-IMPACT RESISTANT, FAZMEE ﬁ% 8 u
< - e i *
| SOLUTIONS  EQUAL-LEG, INTEGRAL FIN & FIN-FLANGE FRAMES B-:L’:e% 2 B %‘afc’:‘r*' o]
' ot il gizgs
48" BUCK WIDTH “5»3, :5- = ¢;:agﬁ «
n , .A:“- E E ‘.":cj':
1) THIS PRODUCT HAS BEEN DESIGNED & TESTED —— - 8" MAX ! *‘:;ﬁ;+.+,_";,§ 7 -
TO COMPLY WITH THE REQUIREMENTS OF THE 2018 ocC. - 54"BUCK WIDTH ‘11{{\* PTi P =
INTERNATIONAL RESIDENTIAL CODE (IRC), AND THE i T Z
2018 INTERNATIONAL BUILDING CODE (IBC). B ¢ 2
T - = = 6"TYP. @
2) SHUTTERS ARE REQUIRED WHEN USED IN / . B 9 .z .
WIND-BORNE DEBRIS REGIONS. 41-3/16" / A 3" TYP. 5| Su, 28 o
MAX. DAYLIGHT i - f L 82iE 215 S
3) MASONRY ANCHORS MAY BE USED INTO WOOD. OPENING HEIGHT 37-3/16" * 8295 ) % | v
ALL WOOD BUCKS LESS THAN 1-1/2" THICK ARE TO @ MAX. DAYLIGHT y S se4i T W g0
BE CONSIDERED 1X INSTALLATIONS. 1X WOOD n ¢ OPENING HEIGHT / EgE8E| W ax ) Eu
BUCKS ARE OPTIONAL IF UNIT IS INSTALLED @ 7 ¥ &zow m | 3L 2 =
DIRECTLY TO SUBSTRATE. WOOD BUCKS DEPICTED 40-1/2" @ @ b °3E3 D B Q 995
AS 2X ARE 1-1/2" THICK OR GREATER. MAX. DAYLIGHT = ¢ 9 250 8 85 2 3
OPENING WIDTH 46-1/2" x| * o sn Q9
4) ANCHOR EMBEDMENT TO BASE MATERIAL SHALL 92" - MAX. DAYLIGHT = Ui w w29 So
BE BEYOND WALL DRESSING OR STUCCO. USE MAX. —~ . OPENING WIDTH ‘ a o’ g E § (n/:) g";;,
ANCHORS OF SUFFICIENT LENGTH. BUCK 84 4" TYP % W 50 Too
HEIGHT * & MAX. ! — ¢ 4 PIso 58x
5) MAX. 1/4" SHIMS ARE REQUIRED AT EACH 42-3/16" y. BUCK f ] . f - S 4 £ 004
ANCHOR LOCATION WHERE THE PRODUCT IS NOT MAX_ DAYLIGHT // HEIGHT @ § O g g g
FLUSH TO THE SUBSTRATE. USE SHIMS CAPABLE OF OPENING HEIGHT 38-3/16" / z 0 S <
TRANSFERRING APPLIED LOADS. MAX. DAYLIGHT 7 2> 10 - T
i 5 OPENING HEIGHT (5 <8¢ A
6) THE ANCHORAGE METHODS SHOWN HAVE BEEN ¢ ﬁ ¢ L2/ s a0
DESIGNED TO RESIST THE WIND LOADS { 9w g
CORRESPONDING TO THE REQUIRED DESIGN : 47 1)0" a Su s
PRESSURE. THE 33-1/3% STRESS INCREASE HAS 41-1/2" 8" MAX O.C. - MAX. DAYLIGHT —=| % H=3
NOT BEEN USED IN THE DESIGN OF THIS PRODUCT. MAX. DAYLIGHT = | | B OPENING WIDTH &oW
THE 1.6 LOAD DURATION FACTOR WAS USED FOR OPENING WIDTH \ $ ST x
oa-—=z22
THE EVALUATION OF ANCHORS INTO WOOD. 14" TYP.
ANCHORS THAT COME INTO CONTACT WITH OTHER ' : = 1| ! ' ! | 3 TP
DISSIMILAR MATERIALS SHALL MEET THE | 491" MAX 77 O S ANCHORS REQUIRED f
REQUIREMENTS OF THE INTERNATIONAL BUILDING 4-9/16" MAX | @ f f .
CODE FOR CORROSION RESISTANCE. 8
TYP. ANCHOR LOCATIONS @ TESTED SIZE TYP. ANCHOR LOCATIONS @ TESTED SIZE 2
(FIN, FIN/FLANGE FRAME SHOWN) (EQUAL-LEG FRAME SHOWN) o
(SAME ANCHORAGE APPLIES TO 54"x84" SIZE) (SAME ANCHORAGE APPLIES TO 48"x92" SIZE) @
- = = 7/8"NOM. =
* ORIEL TABLE 1: DESIGN PRESSURES <Q(
CONFIGURATIONS +— 1/8" ANNEALED OR : . .
OPENING PROVIDED THAT DOW 983 o 5/8" AIR Width | Height| (+) psf (-) psf Number
HEIGHT THE MAX DAYLIGHT RGS 7700 / DATE 9/26/2022
EE@,ﬁ * OPENING HEIGHT o / 1/8" ANNEALED OR 54" 84" 50.0 50.0 NI015680 :
alyiasivaes f . TEMPERED GLASS 48" | 92 | 500 [ 500 | NI015680.01 SCALE: NTS
ﬁg g\';'é)"l‘éNNOT 'H FOR SIZES NOT SHOWN, ROUND UP TO THE BY:L YODER
EXCEEbED. 1/2" NOM.J NEXT AVAILABLE WIDTH OR HEIGHT DIMENSION. DRAWING #
GLASSBITE  GLAZING DETAIL DH1840-TDI-01
SHEET: 10F5



Logan.Yoder
TX-Seal-Sig-Date


/ 1\ EQUAL-LEG FRAME X-SECTION
\.2_/ WOOD OR MASONRY CONSTRUCTION

EDGE DISTANCE —{

A

— EMBEDMENT

X

1/4" MAX SHIM
SUBSTRATEL r

DAYLIGHT
OPENING —
HEIGHT

BUCK
HEIGHT

ORIZONTAL CROSS SECTION
EETING RAIL

|
@—4|GHT

OPENING
HEIGHT

ANCHORS NOT
REQUIRED IN
SILL

1/4" MAX SHIM
EXTERIOR

=

SUBSTRATE]

/3" EQUAL-LEG FRAME X-SECTION
{2/ WOOD OR MASONRY CONSTRUCTION

1/4" MAX SHIM —

BUCK WIDTH

@ @ —=| [=— 1/4" MAX SHIM
EMBEDMENT —~ - 29 |
L —r 41
@BD o o 7§ EDGE DISTANCE
EDGE RN WA H\Vﬂ \/ {U 1y f
DISTANCE = - D.L.O WIDTH ~(17)
SUBSTRATE *j / 16
— \ L]
17 ==l D.L.O WIDTH - =B w
==
/ 4"\ EQUAL-LEG FRAME X-SECTION EXTERIOR /"5 EQUAL-LEG FRAME X-SECTION
\_2_/ USING 1X BUCK 20 T \_2_/ STEEL STUD CONSTRUCTION
11
16
TABLE 2: INSTALLATION ANCHORS
. 1) ANCHOR MUST EXTEND A
Minimum Minimum MINIMUM OF 3 THREADS
Anchor Substrate Edge BEYOND ANY METAL
Distance | EMbedment SUBSTRATE
or Aluminum, 6063-T5 min. 5/16" 0.045" MAY BE USED FOR GROUTED
Steel or 410 SS , - - CMU APPLICATIONS
Screw Steel Stud, Gr. 33 min. 5/16 0.035" (20 Ga)
A36 Steel 5/16" 0.035" 3) ALL ANCHOR HEAD TYPES
Concrete (min. 2.9 ksi) 1" 1-3/4" ARE APPLICABLE
3/16" Steel - -
Ungrouted CMU, (ASTM C-90) 1-1/4 1-1/4
Ultracon+ :
Southern Pine (SG = .55) 1/2" 1-3/8"
Concrete (min. 3.0 ksi) 1" 1-3/8"
1/4" Steel - -
Ungrouted CMU, (ASTM C-90) 1 1-1/4
Ultracon+ y
Southern Pine (SG = .55) 1" 1-3/8"

INSTALLATION NOTES:

1) SEE SHEET 1 FOR ANCHOR SPACING REQUIREMENTS.

2) ANY INSTALLATION OPTION SHOWN (2X BUCK OR WOOD FRAMING, 1X BUCK, DIRECT TO MASONRY, STEEL STUD) MAY

BE USED ON ANY SIDE OF THE WINDOW.

3) USE ONLY SUBSTRATE APPROPRIATE ANCHORS LISTED IN ANCHOR TABLE 2. FOLLOW EMBEDMENT AND EDGE
DISTANCE LIMITS. MAX. SHIM THICKNESS TO BE 1/4".

wnnhl
OF T,

s

B0

1

1

- 9[26/22

A.LYNN MILLER, P.E., TX P.E. # 106954

[N E]
o 2 =
~ ) < D
S| ¥ o F >
u | §23F = 2
¥ | SBos| Z Q @
O z82¢ L 3 5%
E 85| W = W
< €252 1| 2 | B=s
¥ |[aTqon o0 g -
l_O'_LuLIJ 1} E
U)OS'ZE D 1 oo
= a=Q n
ol O ") O

O =3
w | g o z %m
= » a <
L Wi o zQ=
o 4 z [ 2up&
04 LU O |To™
& 9 £ B

o .
= 0 < -Q
Z - 5 EEE
Za > Z\9<
> =z =
0> R -
N ONN| >
83 s
5oug
QTXu
98
L R-Z<
Q.OLIJ/'\
LIJ,\>;
X o _:
o~z

=

)

2]

>

w

hd

L

|_

<

o

H#

DATE: 9/26/2022

SCALE: NTS

BY:L YODER

DRAWING #:
DH1840-TDI-01

SHEET: 2OF5



Logan.Yoder
TX-Seal-Sig-Date


/ 1"\ FIN-FLANGE FRAME X-SECTION

EDGE DISTANCE

\_3_/ USING NAILS
EMBEDMENT |
'O scREW,
SEETABLE 3\H\E SUBSTRATEL, #

HEIGHT

HORIZONTAL CROSS SECTION

MEETING RAIL

r 1/4" MAX SHIM

MAY BE NAIL

OR SCREW, =]

SEE TABLE 3
EXTERIOR

SUBSTRATE]

/"3 FIN FRAME X-SECTION

5

\_3_/ USING NAILS

%

BUCK WIDTH ~— 1/4" MAX SHIM
1/4" MAX SHIM —| |~—
SUBSTRATE|| [ ] L
11
22
amy
EMBEDMENT B / ‘ | :
|| [ =
- = / C <~ DLOWIDTH —+ .
EDGE  _ \f e 17
DISTANCE ] ‘ % / ]
MAY BE NAIL =T ‘ D.L.O WIDTH - =9 1°
OR SCREW, P
SEE TABLE 3 1C

("5 FIN-FLANGE FRAME X-SECTION

/ 4"\ FIN FRAME X-SECTION
\_3_/ STEEL STUD CONSTRUCTION

EXTERIOR
\_.3_/ USING NAILS B

TABLE 3: INSTALLATION ANCHORS

1. 9/26/22

106954

....

A.LYNN MILLER, P.E., TX P.E. # 106954

ANCHOR MUST EXTEND A

INSTALLATION NOTES:

1) SEE SHEET 1 FOR ANCHOR SPACING REQUIREMENTS
2) FLANGE AND/OR FIN MAY BE REMOVED TO CREATE OTHER FRAME TYPES.

3) USE ONLY SUBSTRATE APPROPRIATE ANCHORS LISTED IN ANCHOR TABLE 3. FOLLOW EMBEDMENT AND EDGE
DISTANCE LIMITS. ANY INSTALLATION OPTION SHOWN MAY BE USED ON ANY OR ALL SIDES OF THE WINDOW.

MAX SHIM THICKNESS TO BE 1/4". MAX SHIM SPACING TO BE 18".

i i MINIMUM OF 3 THREADS
Anchor Substrate M'.n - Edge Min. BEYOND ANY METAL
Distance | Embedment SUBSTRATE
2-1/2" x .113" Box Nail P.T. Southern Pine (SG = .55) 5/16" 2-1/2" 2) ALL ANCHOR HEAD TYPES
2-1/2" x .131" Common Nail| P.T. Southem Pine (SG = .55) 3/8" 2-1/2" ARE APPLICABLE
2-1/2" x .145" Roofing Nail | P.T. Southern Pine (SG = .55) 3/8" 2-1/2"
P.T. Southern Pine (SG = .55) 1/2" 1-3/8"
Aluminum, 6063-T5 min. 5/16" 0.045
#10 Steel SMS -
Steel Stud, Gr. 33 min. 5/16" 0.035 (20 ga)
A36 Steel 5/16" 0.035

o =W
8582 0 3 3
| 830E % Y I
Z | P3uk| T z Z 0O
O |z32¢c g O
= | QzWx L o3 = 0
=3 Ke] =
< | z3z35| J | Z2 o=
X 0@ | s
5 l1o3gz| D w09
o 233 0 9% 20
2 2 O zE 83
: » Q<
W wiao | z02
o x| z |[253
m- LLl = I({)C")
i n |5 Eod
- ol 4 3%
= < - OO<
2 T2 I5Z
S0 = Z -+
0
—4 >N =
<'(D(\I >
- 03 m
>'6'_|O
m TR =]
nZ-o®
m LW
= ©
L R-Z<
ST
£5>3
al2Z2
.
O
2]
>
w
o
L
|_
<
a
3#
DATE: 9/26/2022
SCALE: NTS
BY:L YODER
DRAWING #:
DH1840-TDI-01
SHEET: 3OF5



Logan.Yoder
TX-Seal-Sig-Date


4.394" — 4.360" ——— Ly, g
4390" = Soxifisgy, & 3
Sxoeriditol, S u
Zxs  isF e N o
il =] HE = :
2.700" 3‘3}'%(; g §izgs U
Gui T iZiT Sisg .
702" 702" Wi 181 GOF &
a5 evyigiaSsE L2
276" 111\1{_\.':{:\?:;\1{" %
162" >
3.311" -
™ (%)
EQUAL-LEG = 5mo 5
FRAME 8| 522 o >
L ag=gl =z o
3.311" Tla2es] 5 O w
n = 9%'—”5 T Z 0O
1.887" —i . INTEGRAL 3.312 5 |z548 50
FIN FRAME ({©) FIN/FLANGE clesse| Y| o | EY
- ¥ |@Faqn m Z -
n A FRAME - ODLIJE (@) =
.060 " w |CoEs| 2D = | 90
L 793 .050"»«L o| 238l 9| 3|29
" | u (@] 4 )
‘«1.697"«1 = 418 e n| %182
Ll w| w  zo2
SILL (@) HEAD GLAZING BEAD Q 4 =53
ADAPTER ADAPTER (7/8" GLASS) 9 L TH®
L wn = Od
- o 2l
- = O O g
- 1.887" 1.848" = 1.569" | = ® 2352
.060 ' ] Z o TR
r i Z S E Z <=
} 602" 1.437" < o % >
594" ——- % % g’ oS
SASH KEEPER 0%,
ADAPTER RAIL x9S
T
M
xS
1.813"— rs>g
060
1.437"
g
o
(V)]
TOP PULL S
LOCK RAIL BOTTOM w
® raL @ puiL RALL &
=
|_
1.074" 850" <
1.050 — 1. — : .
1 O ‘ T % ’360 | &
?J E 652 652 g T ] 375" DATE: 9/26/2022
.062 f I 062" SCALE: NTS
KEEPER RAIL LOCK RAIL TOP PULL RAIL
REINFORCEMENT REINFORCEMENT REINFORCEMENT REINFORCEMENT BY:L YODER
THE APPROVED RIGID PVC EXTERIOR EXTRUSIONS ARE TO BE PRODUCED BY EXTRUDERS' DRAWING # :
LICENSEES UNDER "AAMA CERTIFICATION PROGRAMS FOR RIGID PVC EXTRUSIONS". DH1840-TDI-01
SHEET: 4OF5



Logan.Yoder
TX-Seal-Sig-Date


ITEM DESCRIPTION CBP PART # MATERIAL/ DESCRIPTION

1A EQUAL LEG MASTER FRAME 1813A RIGID PVC

1B NAIL FIN MASTER FRAME 1843A1 RIGID PVC

1C FIN-FLANGE MASTER FRAME 1843] RIGID PVC

2 SILL ADAPTOR 1885 RIGID PVC

3 HEAD ADAPTER 1875 RIGID PVC

4 GLAZING BEAD 1876 RIGID PVC

5 SASH ADAPTER 1888 RIGID PVC

6 KEEPER RAIL 1817 RIGID PVC

7 STILE 1808 RIGID PVC

8 LOCK RAIL 1806 RIGID PVC

9 TOP PULL RAIL 1815 RIGID PVC

10 BOTTOM PULL RAIL 1805 RIGID PVC

11 STILE/BOTTOM PULL REINFORCEMENT 6113 6005A-T61

12 KEEPER RAIL REINFORCEMENT 6115 6005A-T61

13 LOCK RAIL REINFORCEMENT 6112 6063-T6

14 TOP PULL RAIL REINFORCEMENT 6114 6" / 6063-T6

15 KEEPER RAIL GASKET pp1297 or E109 PP1297 for A1,A3

16 WSTP .187x.210 P-4026 GRAY

17 WSTP .187x.240 P-4028 BLACK

18 SPIRAL BALANCE - CALDWELL EZ-LIFT

19 COIL BALANCE RT880-80 CALDWELL, ROLLER TILT 880

20 LOCK HOLDING SCREW 1007 #6 X 1-1/4" SMS

21 KEEPER HOLDING SCREW 1007 #6 X 1-1/4" SMS

22 REINFORCEMENT SCREW 1068 #6 X 5/8" FLAT TEK

23 INTERLOCK ADDER SCREW 1068 #6 X 5/8" FLAT TEK

26 PIVOT BAR 8148 6063-T6

27 TILT LATCHE 825 TRUTH 46.13 / ZINC BODY AND PLUNGER, STEEL
SPRING

28 INTERLOCK EXTENDERS LH&RH 8125 -LH/RH LAWRENCE / NYLON

29 LOCK 8122 VISION HARDWARE / ZINC BODY AND CAM

30 KEEPER 8123 VISION HARDWARE / ZINC

31 REINFORCEMENT SCREW FOR SASH JAMB 1003 #6 X 1/2" FLAT TEK

32 REINFORCEMENT SCREW FOR TOP RAIL 1068 #6 X 5/8" FLAT TEK

33 REINFORCEMENT SCREW FOR BOTTOM RAIL 1068 #6 X 5/8" FLAT TEK

34 PIVOT BAR SCREW - #8 X 1/4" PHIL PAN ( 2 / PIVOT BAR)

35 TILT LATCH SCREW - #6 X 1/2 FLAT TEK

36 TOP PULL RAIL REINFORCEMENT SCREW - #6 X 3/4 FLAT TEK

<
wv
BUCK ANCHORAGE DETAIL a}ﬁxxx}g}g\ht ~ g
Sorrimiigh, o o«
B S AR — 13-1/2" MAX. Z5T iE ""{f?;?g, @
" “ “ 27N iZig e O
P - 2l FiZ] Nige ! F
4 4 s ., < Lz == - :
A | | ﬁoﬁ‘}(zﬁg gigz-
. i i 4 0t iZie Yioe e
a7 dxin  iGi  AOE o
. 11-1/2" MAX. (N R o
g 4 #{'\S‘:' +|E|£E|+"+II = =
1 1T == =
< I Mo z
a ” v :
4 P <
RN S| o w
’ | Bu 2 o
A N 522 o B >
“ : L 8335z 9 &
< [ [ rd @;EE D O (£ L
= | QzWx | 1] < =
© izee m O 22
23" MAX I 8385 | 5 2 1038
ol 223/ O | & | 20O
¢ w| g QO o 29
14 - (ol a)
- N ; n < | o<
R L W) x  z0=
P o | H 253
s 3 e L < ™ Nn™
’ w w = = O
— I Dl
. | o R
a 4 . — q— O O O <
4, ) = o0 - D — o
zZ - 2 | =3¥=
. P A — Zx m LS
- p o o Z ~ -
a4 4 — > N~ ..
S <8¢ >
’ | | N 9 -
) \ \ mOgF &
2 p - . A $ a Z . ©
9 “ a N w I w~
s . <] a r QO
. i <HZ2
ST
- 27"MAX —=— We>g
a2z
Minimum . =
Anchor Substrate Edge Minimum )
: Embedment )
Distance =
w
H H n - " m
1/4" Steel Ultracon+ Concrete (min. 3.0 ksi) 1 1-3/8
Ungrouted CMU, (ASTM C-90) 1" 1-1/4" i
<
1) "UNGROUTED CMU" VALUES MAY BE USED FOR GROUTED CMU APPLICATIONS. Q
.
2) ALL ANCHOR HEAD TYPES ARE APPLICABLE.
DATE: 9/26/2022
SCALE: NTS
BY:L YODER
DRAWING #:
DH1840-TDI-01
SHEET: 5O0F5



Logan.Yoder
TX-Seal-Sig-Date




